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16 x 1.85 = 29.6 m
16 x 1.85 = 29.6 m + 0.8 = 30.4m
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wheba] [ ote]l 012 4-9] g
726 + 85 + 61710 + 1000 + 61.71 = 63582.71 YU T}.
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0.32 x 0.08
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> HeH 0.0256
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32 x 8 = 256 SFH |
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D 3.5x%x1.57 @ 620x2.43 ® 9x5.06
@75 x 0.88 ® 349x1.22

B

@D 3.5x1.57 = 5.495

@ 620 x 2.43 = 1506.6

® 9x5.06 = 45.54

@ 75x0.88 = 66

® 349 x 1.22 = 425.78
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oh 0.4x1.8 C. 23.125 x 0.04

®7h1 @7k @t @ v

~&B

7} 0.37x 2.5 = 0.925

. 2.1%x3.6 =756

th 0.4%x1.8=0.72

7. 15.12% 0.5 = 7.56

L. 5.76 X 0.125 = 0.72
. 23.125 % 0.04 = 0.925
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® 42x23 @ 420x0.03 @ 5.6x42

@)0.42 x 8.5 ® 132x0.42

4.29R5shs 711 Bt 2o At A3t 4.2 ek 2y,
D 4.2%x2.3 =9.66

@ 420 x0.03 = 4.2x3 = 12.6

@ 5.6 x 42 = 4.2x56 = 235.2

@ 0.42 x 8.5 = 4.2x0.85 = 3.57

® 132 x 0.42 = 4.2x1.32 = 5.544




12.

63 x 18=1134 Y& ©]-85to] F2 FSHA 2.
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wbA 63 x 0.018 = 1.134 Y th
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@0.0328 x 14 ® 3.28x 14
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D 328 x 1.4 = 459.2

@ 328 x 0.14 = 45.92

® 0.328 x 14 = 4.592

@ 0.0328 x 14 = 0.4592

® 3.28 x 14 = 45.92
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@D 5.93 x 1000 = 5930 @ 4.5 x 10000 = 45000
@70.4 x 0.001 = 0.704 @ 150%0.01 = 1.5
® 32.4x0.1=3.24
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17. [ Jetel ggre 3 0M 2 22 2L,
® 94x[ |=0.094 @ 105x[ |=105
® 0423x| |=423 @0.012 x| ]=12

® 6x[_]=0.6
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@ 94x| |=0.094,[ |=0.001
@ 105x[_|]=105,[ ]=01
® 0423 x[_|=423,[ ]=100
@ 0.012x[_]=12,[ ]=1000
®6x[ ]=006] |=001




18.

Z0]7F 7.69cm Q1 A Blo] L 14%Z olof 2AsUHh 24 o HA
AR=R=]

20 Zol7t 3.12cmeHd, o] 2 WA A Ho]Lo] Hol= Y ¢

1479 Ho| g o]0 FAX X9tF AA| 9] do]7} Froty
Yt E&ste] FAAE XL 1373do|BE AA AoloA
A A= HE (312 x 13) TF wijoF ghch,

(7.69 x 14) - (3.12 x 13)

= 107.66 — 40.56 = 67.1(cm)




19. ol® 4] 458 Bafo}
a1 ) 7

sh2 ) At kel oAl

]_

ol

> E:
21.15

& A AEstel gHY 0.271 Flsith
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6.4x13-0.9%12=83.2-10.8 = 72.4(cm) YUt}
wreba] Yol 72.4 x 3.5 = 253.4(cm?) Ut}




